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SECTION-A
i) General Awareness

Western Ghat and Eastern Ghat meets 7. Which of the following organization
in which of the following hills ? releases the “Human Development
(A) Cardamom hills Index” report (HDI) every year ?

(B) Palani hills (A) UNDP

(D) None of the above (C) WHO

Which of the following rivers is not a (D) FAO

tributary of Brahmaputra ?

(A) Subansiri (B) Pagladiya 8. Every year “Intemational Day of Yoga” is

(C) Dhansiri (D) Gandak

“Satyameva Jayate” — Truth only
Triumphs written in which script ?

(A) Brahmi script
(B) Thai script
(C) Devanagari script

observed on which of the following date.?
(A) June, 218t

(B) May, 18

(C) June, 51

(D) None of the above

Intemational day of non violence observed

(D) None of the above 9.
every year on
The national calendar of India based on (A) October 2
which of the following calendar system ? (B) October 23
(A) Julian calendar system
(B) Saka Era calendar system (C) September 22
(C) Gregorian calendar system (D) None of the above
(D) None of the above
; 10. Iron Magic-19 a military exercise held
In which Session of the Indian National between which of the following countries ?
Congress our thlonal anthem Jana- (A) USA and Japan
gana-mana was first sung ? _
(A) Calcutta Session, 1911 (B) India and Germany
(B) Madras Session, 1908 (C) USAand UAE
(C) Belgaum Session, 1924 (D) None of the above
(D) None of the above
11. “Nomadic Elephant” a joint military

Which of the following ministry have
launched O-SMART Scheme 7

(A) Ministry of Skill Development and
Entrepreneurship

(B) Ministry of Earth Science
(C) Ministry of Tribal Affairs
(D) None of the above

exercise was held between which of the
following countries ?

(A) India and Vietnam

(B) India and Mangolia
(C) India and North Korea
(D) India and South Korea
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T —
i) W AR
. ufverdt ure ot ooff ae Frafafea g a | 7. frfeafiaa o @ -t geen “awe faem
e gda d fyed € 7 qerhich” Tedsh a¥ SIHY Sl & ¢
(A) <hTEem i qRrfeat (A) UNDP
(B) Tt gaTiEat
(©) it ) vt (B) UNESCO
(D) 3% H ¥ I3 el (C) WHO
(D) FAO

. Frafafe & @ sF-d & smg f
HE® T T 8 7

(A) gefH (B) Wt
(C) wAfEd (D) TEH

. “goaid S -gd 6 fae Bt B, e
fafg d foran g 7

(A) meh fafd

(B) s farfy

(C) TaaTTH feafy

(D) 3% H ¥ I3 e

. 9T 1 U e faefefaa ® 9 fem
TN YOTeAT 9T TR & 7

(A) Siiera= S=RT SOTE

(B) T Had USITT WUITAT

(C) Tt 9= worett

(D) 3o H & g TE

. WA T I o hiA-8 AREyE 1§
TS T S -T101-T Y8t ST 7 7471 7
(A) FHershar ARETH, 1911

(B) Wz f&awH, 1908

(C) SerTia AfEyF, 1924

(D) 39 H g HIs 781

. Fafafas # @ forg 9ame@ 3 O-SMART
AT AR H B 7

(A) =TS fam iR Sufdar gae™

(B) i HTeTd

(C) S W™

(D) I | & HIs &l

10.

11.

FI HAAT ST S ?
(A) 215

B) 143

(C) 55d
(D) 3§ O s T

o fEan feaw g 9y e TART
ST g ?

(A) 2 IR

(B) 23 T

(C) 22 faasr

(D) 3% H ¥ IS TE

T AfSeh-19, Teh 8- e et
o ¥ fop <uti o <= gan ?

(A) JUHT IR STIH

(B) T 3 st

(C) gudT 3R ITE

(D) 3 H | FIS T

WHTEE T Th GEF A A
fraferfaa # & form 3w & off= gom ¢
(A) WRE 3R feram

(B) ¥ 3R Hifer

(C) ¥R 3 I IR

(D) WRa 3N efequr shife



12.

13.

14.

15.

Cyclonic Storm Ockhi was a strong
tropical cyclone that devastated parts
of Sri Lanka and India. It was the
tropical cyclone of which of the following
sea/ocean ?

(A) Arabian Sea

(B) Bay of Bengal

(C) Pacific Ocean
(D) None of the above

Which of the following nations severely
affected by the tropical cyclone Idai ?

(A) Mozambique, Zimbabwe and
Malawi

Bangladesh and Sri Lanka
Australia and New Zealand

(B)
(C)

(D) None of the above

Which of the following convention aims
to conserve the migratory species of
wild animals ?

(A) Ramsar convention

(B) Bonn convention

(C) UNFCC

(D) None of the above

Which of the following statement/s
is/are true about National Green Tribunal
(NGT) ?

(A) NGT set upin 2010 under the NGT
Act

It is a specialized body equipped
with the necessary expertise to
handle environmental disputes
Both the options (A) and (B) are
correct

(B)

None of the above

16.

742

18.

19.

20.
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Who was served as the first Lok Sabha
speaker of free India ?

(A) K.S. Hegde

(B) Sardar Hukam Singh
(C) Sumitra Mahajan
(D) G. V. Mavalankar

What is the minimum age to contest for
Lok Sabha election ?

(A) Not less than 30 years
(B) Not less than 18 years
(C) Not less than 25 years
(D) None of the above

How many railway zones are there in
India ?
(A) 12
(B) 17
(C) 15

(D) None of the above

Nobel award-2018 in physics, awarded
to the scientists for their contribution in
the field of

(A) Acoustics

(B) Nuclear physics

(C) Laser physics

(D) Astrophysics

The headquarters of SAARC is located at
(A) New Delhi, India

(B) Kathmandu, Nepal

(C) Kabul, Afghanistan

(D) Dhaka, Bangladesh




13.

14.

15.

I st Ssham o 5 Hfieis 3k
I o foed e o | e fore s/
HETEFT 3h1 Sshald 9T 7

(A) TS IR

(B) sHTIeT 1 @l

(C) WSIE HETETR

D) 394 H & IS &l

Frafafaa & @ F9-3 29 swelRkedy
=IsheTd 3eTs Y Tt ¥4 § wifea gu ?
A) Histifees, Narsa ot gramE

(B) wereyr 3R Hieient

(C) refor 3R sficts

(D) 3% H & IS AL
fFr=fafas & @ SR - st s 6
T ST SREoT o Ush | o 3egd & 7
A) THER HayH

B) ¥4 HayH

(C) UNFCC

(D) 394 H A HI3 72

st afita ifereRer (NGT) = s Feforfaa

THHH-TTHITEA R 7

(A) 2010 ¥ Ta=idt & T TS
HAferfam & ofarid g3

(B) I8 TH y¥iawefly feamet i H%ﬂ?—ﬁ

(C) (A) 3R (B)3HI aet &

D) 3 H & IS A8

16.

17.

18.

19.

20.

MKG-XVIITECHCICOPA/IT/03
WA IR o Uee! airhas] T 3 ®9 1
1%&9{ Tar i 7

) %.TH. TR
(B) &R g o
(C) HfE=T1 HETSH

(D) <fi. &ft. ArEEe

253@?@@:@?

ifaehl 1 T GEFR-2018 I
£l % & ¥ 37 AMeH g e
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22.

23.
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ii) General Intelligence and Reasoning Ability

The wages of 8 men and 6 boys amounts
to ¥ 33. If 4 men earn ¥ 4.50 more than
5 boys. Determine the wages of each
man and boy.
(A) 15,3
B) ¥3,1.5
(C) ¥25,%2
(D) ¥2,X25

The total cost curve of the number of
copies of a particular photograph is
linear. The total cost of 5 and 8 copies
of a photograph are ¥ 80 and ¥ 116
respectively. The total cost for 10 copies
of the photograph will be

(A) 100

(B) 120

C) ¥110

)
)
)
D) % 140

(
(

A, B, C, D, E and F belong to a family
that has two married couples. No one
from the third generation is married.
C is F's mother-in-law. D, E and B are
A’s teenaged older sister, father and
grandfather respectively. Who is D's
father ?

(A) A

(B) B

(C) C

(D) E

24,

25.

26.

a7,

A man starts from his house and walks
eastwards for 10 mis. He then takes a
left and walks 10 mts and again turns
left and walks 10 mts. Here, he takes a
right and walks 5 mts. In which direction
is he walking ?

(A) North

(B) South

(C) East

(D) West

If PAINT is coded as 74128 and EXCEL
is coded as 93596, then how would you
encode ANCIENT ?

(A) 2451928
(B) 4251928
(C) 4251982
(D) 4261892

Find the wrong terms of the series
9, 29, 65, 126, 217, 344.

(A) 65

(B) 126

(C) 9

(D) 29

Find odd man out, 3, 5, 7, 15, 17, 19.
(A) 15

(B) 17

(C) 19

(D) 7




22.

23.
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ii) | gigaTn au arfdhen ArEar

8 AR I 6 i i Aol il Fed
iRt ¥ 33 8 | afe 4 efi@i 5 e &
% 4.50 SITQT AT & al T AeHT 37K
TS i HSIGL 1 H |

(A) 15,33

(B) 23,315

(C) 25,32

(D) 2,225

& famiy wichus i afafafra)
HEAT 1 FdA hivd T 9% WaH B | Th
BT i 5 3T 8 fiferfori st et wamrer
AT T 80 3R % 116 & | B2 hi
10 sfaferfi=t it et e Bt

(A) 100

(B) %120

(C) 2110

(D) % 140

A,B,C, D, E3RFusyfar a2 Sgd &
forafea wiie 2 | diwd 4idh & =< faafea
T2 IC,F AT D, EINB,AF
Treit st wre, foan 3fR 2@ o 2
D& T2 ?

(A) A
(B) B
(C) C
(D) E

24.

25.

26.

27.

T AfFd AT B Y oM RS HAT 2
3R gd &t AR 10 Her gerar @ | i smd
e © 3R 10 =T werar ® 3 fht and
g 10 Hiet Ierd1 & | 374 I GIH
sHix g e | 98 R e wid ?
(A) I

(B) afequr

)
(C)
(D) ufv=m
gfs PAINT &1 2 74128 3 EXCEL
1 %2 93596 &, a1 ANCIENT %1 2 41
2T 2
(A) 2451928
(B) 4251928
(C) 4251982
(D) 4261892

FEe H Ted 98 g |
9, 29, 65, 126, 217, 344
(A) 65

(B) 126

(C) 9

(D) 29

g1 i gfie 3, 5, 7, 15, 17, 19
(A) 15

(B) 17

(C) 19

(D) 7
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Direction for Q. No. 28 and 29 : For questions 30 and 31 refer to the data

below :

5 cars are owned by 5 different men and each
A+Bmeans Ax B

A+Bmeans A-B
Cars — Brown, Orange, Red, Green, Yellow | A x B means A + B

of them play one of five different games.

Men - C,D, E, F, H A—-Bmeans A+B

Game — Basketball, Volleyball, Cricket, Table | 30. Find the value of 28 — 4 x 3 = 10.

tennis and Football (A) 1
(B) O
1. D likes to play Basketball (C) 2
2. The one with the Green car plays (D) 3
Football 31. Findthe value of 5x5+1x5+2x5+3.
3. D has a Red car and H does not like (A) 15
Volleyball (B) 20
(C) 25
4. E plays Cricket and has Orange car (D) 35
5. F plays Table tennis and does not 32 RAIN : DRIZZLE
have a Brown or Red car (A) SWIM : DIVE
(B) HOP : SHUFFLE
28. Who plays Volleyball ? (C) JUGGLE : BOUNCE
(D) RUN : JOG
(A) C
(B) D 33. Here are some words translated from
an artificial language
(C) H
granamelke means big tree
(D) F

pinimelke means little tree

melkehoon means tree house
29. Who has got Green car ?

(A) H Which word could mean ‘big house’ 7
(B) D (A) glra'nahoon
(B) pinishur
e (C) pinihoon
) F (D) melkegrana
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T T 28 311 29 o foru fAdsr - ¥ T 30 3T 31 o foru i offere s gl o

5 % % @t 5 i safFy 8 sfv sl il ofg [A+BH A4 2 Ax B
PE-Peea@ad & | A-B FTad2A-B

it - 40l Gl e, 8, e AxSImEGY A b
. A-B FHI3ARA=-B
Ffeat - C, D, E, F, H

G Toheata, aicfisrd, f3 . 28-4x3+ 10 H UH 1A
G — Siehes o, aiciard, foehe, 2aa g 90, 128 =413 +10 31 |

(A) 1

IR Feard (B) 0
(C) 2

1. D i Sihesic] @] 968 & (D) 3

2. &l R AT PeAld Tordr

3 5x5+1><5+2><5+3$r1=l'|7f3ﬂﬁ$\fl
3. D % UTH U AT FI & 3 H =l (A) 15
atefiaier wHe 78 (E) 20
) | (C) 25
4. E forohe Taar & ot 3geht galt w2 (D) 35
5. Foaet Fe Gem R S SWF IR | 55 iy - it
R UEE L (A) et : e
(B) IBTEHT : e
28. dTdlaicd iH @eidl & ? (C) T FHET : T WrE
(A) C (D) & : it S
(B) D ‘ :
e 33. ¥ Tk FHAH WINT ¥ FS ¥eq e
eh feu U 8
(D) F R

29, iR fFak gt ?

granamelke T 279 § big tree
pinimelke T 319 2 little tree
melkehoon T 319 ® tree house

(&) forg w152 &1 379f ‘big house’ BT 2
(B) D (A) granahoon
(C) C (B) pinishur
(C) pinihoon
(D) F

(D) melkegrana
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34. During the past year, Josh saw more
movies than Stephen.
Stephen saw fewer movies than Darren.
Darren saw more movies than Josh.

If the first two statements are true, the
third statement is

(A) True
(B) False
(C) Uncertain
(D) None

35. Fact'1 : All hats have brims.
Fact 2 : There are black hats and blue
hats.
Fact 3 : Baseball caps are hats.

If the first three statements are facts,
which of the following statements must
also be a fact ?

I. All caps have brims
Il. Some baseball caps are blue
lll. Baseball caps have no brims

(A) |only
(B) Il only
(C) I, lland Il
(D) None

36. Find the missing number.

5,2,7,9, 16, 25, 41, ?
(A) 65
(B) 66
(C) 67
(D) 68

37.

38.

39.

40.

MKG-XVIINTECHCICOPA/IT/03

If RED is coded as 6720 then GREEN
would be coded as

(A) 9207716
(B) 167129
(C) 1677209
(D) 1672091

A is B's sister. C is B's mother. Dis C's
father. E is D’'s mother. Then how is A
relatedto D ?

(A) Grandmother
(B) Grandfather
(C) Daughter

(D) Granddaughter

RATES : ENGRF : : DWELT :
(A) PRSTA
(B) RYJYM
(C) QJRYG
(D) RJMKN

5 friends P, Q, R, S and T are sitting in
a row facing North. Here, S is between
T and Q, Q is to the immediate left of R.
P is to the immediate left of T. Who is
in the middle ?

(A) S

B T

C) Q

(D) R




34.

35.

36.

-11-

fosct ot % dhom, s 3 e @ arfrs
fher 2 |

R A 3 @ 9 e 3 |

SH 7 S @ 31f fved 3t |

Ife I8t & A Tl &, A e w2
(A) T

(B) IEH

(C) ffead

(D) I3 T

a1 aft g ot € |
ﬁ%Q:W?ﬁﬁI-‘-ﬁ?ﬂ%?%l

a9 3 : SEEi A 22 § |

Fie gget o9 o a2 ®, ot FferRaa &
8 HH-T1 HY i U a2 21 =i ?
I |t 2t o fomm € |

Il. F sSgsra it e |

lIl. sgater 2t gt frar 7 & |
(A) | Fad

(B) Il haw

(C) I, 13

(D) =g &

< 931 91 A |
5,2,7,9,16, 25,41, 7
(A) 65

(B) 66

(C) 67

(D) 68

37.

38.

39.

40.
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afe RED &1 %< 6720 & df GREEN %1
A

(A) 9207716

(B) 167129

(C) 1677209

(D) 1672091

ABHITEIZIC,BRTRID CH
U@ I|E, D AR I A, DI g yer
HEfta g 7
(A) <&t

RATES : ENGRF : : DWELT -
(A) PRSTA

(B) RYJYM
(C) QJRYG
(D) RJMKN

5= P, Q R, S 3 T 3w it 3R 4z
FHCHUER 93T |7 S, TahQH
AR IQ RF AR IP, THEa
U PRSI AR?

(A) S

B) T

(C) Q

(D) R




41.

42.

43.

45.
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iii) Arithmetical and Numerical Ability

Value of _2ta_n30_ =

1+tan’30°
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sin 30°

The angle of elevation of the top of a
tower from a point on the ground which
is 30 m away from the foot of the tower,
is 30°, then the height of the tower is

(A) 30m (B) 10V3m
10
(C) 30v3m © "

A line intersecting a circle in two points
is called a

(A) tangent
(B) radius
(C) secant
(D) none of these

The radii of two circles are 19 cm and
9 cm respectively. The radius of the
circle which has the circumference
equal to the sum of the circumferences
of the two given circles is

(A) 21 cm (B) 10cm

(C) 28 cm (D) 27 cm

The length of the minute hand of a clock
is 14 cm, then the area swept by the

minute hand in 5 minutes is
154
) Zom’

(B) 51 cm?

(C) 35cm?

157 o
(D) T cm

46.

47.

48.

49.

50.

A metallic sphere of radius 4.2 cm is

qmelted and recast into the shape of a

cylinder of radius 6 cm. The height of

cylinder thus formed is
(A) %cm

125
(B) 2cm

(C) 3cm

(D) ﬁcm

17

The product of two numbers is 19200
and their HCF is 40, then their LCM is

(A) 48 (B) 480
(C) 240 (D) 120

The 13! term of an A.P., in which the
6th term is —2 and the 9" term is -5 is

(A) 8 (B) 9
(C) -9 (D) -8

A quadratic equation whose roots are
3 1

——and —— is
5 10

(A) x2+35x+3=0
(B) 50x2+35x+3=0
(C) 50x2-3=0

(D) 10x2+35x+3=0

Some students planned a picnic. The
budget for food was Rs. 500, but 5 of
them failed to go and the cost of food
for each member increased by Rs. 5,
then the number of students who went
to picnic is
(A) 20

(C) 30

(B) 25
(D) 15
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42.

43.

44,

45.
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iif) STRTTUTAS U HEATeHeh TRl

2tan30°

1+tan 30
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sin 30°

AT o SR H 30 Hi g ST W e foig
o |1 SR o TS T 3= HI0 30° 2,
dl 2aRd # S8 B

(A) 304 (B) 1043 #t

(C) 3043 T (D) %nﬁ

TS 9 i &l fogadl | gfaese & arel
@ #i Fed © |

(A) TeiLEr

(B) fa==m

(C) Be=h

(D) =9 @ #IS e

a1 gl ot Freamd shms: 19 Tt 37w 9 At
® | 39 g shi Brwan 1 2t foraeht ufmg
faw e 51 % gftarg & Gm H e R ?
(A) 21Tt (B) 10 aH

(C) 28aH (D) 27 4

T " ohi e areft §g it dans 14 ot
2 | fie et €€ g 5 fime & uu mn
ST% B
A) 154 32

3
(B) 51 THi2
(C) 35THI2

157
D) 5 T2

46.

47.

48.

49.

50.

s 4.2 Gt et U g o e < T
TR & 3R 34 U 6 et s a1t v sed
T ST TR R | 39 Y o S 6 91 B
343 .
(A) oo h
(B) 2w
(C) 3a+
) 122 @k
17
3 TS 1 OGS 19200 § 7R 79U
40 2, Y 391 99 B
(A) 48 (B) 480
(C) 240 (D) 120

T gHTaT Aot 61 13 91 98 TR S
6aiug -23M9afug-52 7

(A) 8 (B) 9

(C) -9 (D) -8

e e e v~ o - 2

(A) x2+35x+3=0

(B) 50x2 +35x+3=0

(C) 50x2—-3=0
)

(D) 10x°+35x+3=0

FS foentaT 3w Ushes i ASET 546 |
AIsH & 7T ss1e % . 500 91 Wg 3 |
5 T & 3T ook Tag & oI siisH
@ % . 5 9¢ 741 a fUshie T Fd fohad
foremeff mu ?
(A) 20
(C) 30




51

52.

53.

54,

o9.

If the sum of 3 consecutive numbers is
183, then the numbers are

(A) 59, 60, 61 (B) 60, 61, 62
(C) 60, 62, 64 (D) 58, 60, 62

A man had to walk a certain distance.
He walked half the distance at a speed
of 6 km/hr and the remaining half at a
speed of 5 km/hr. If the total time taken
was 11 hours, the distance he walked
was

(A) 50 km
(C) 60 km

(B) 75 km
(D) 70 km

If the average age of A and B is
18 years, that of B and C is 17 years
and that of C and A is 20 years, then
the age of A is

(A) 20 years (B)
(C) 19 years

18 years
(D) 21 years

If the interest on Rs. 800 be more than
the interest on Rs. 400 by Rs. 40 in
2 years, then the rate of simple interest
per annum (in %) is

(A) 5% (B) 6%

(C) 5.5% (D) 4%

If the sum and product of zeroes of a
polynomial are —3 and 2 respectively,
then the quadratic polynomial is

(A) X2 —3x+2

(B) x2—-3x-2

(C) x2+3x+2
(D) none of these

56.

S7.

58.

59,

60.
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|f5+1=2‘6_3=1
x-1 y-2 x-1 y-2
then (x, y) =
(A) (4.5)
(B) (5.4)
11
©) Z'E]
(D) (-4,5)

Sum of the areas of two squares is
468 m2. If the difference of their
perimeters is 24 m, the sides of two
squares are (in metres)

(A) 23,12 (B) 18,12
(C) 16,18 (D) 14, 16

Among /2, 2—,0.01 , — 8, one which is not

a rational number is

3
(A) V2 B) 3
(C) 0.01 (D) -8

By selling a pen at Rs. 250, the profit
made is Rs. 50, then the cost price of
the pen is

(A) Rs. 300

(B) Rs. 225

(C) Rs. 200

(D) None of these

In a mixture of 35 litres of milk, the
ratio of pure milk and water is 4 : 1. If
another 7 litres of water is mixed to the
mixture, the ratio of milk and water in
the resulting mixture becomes

(B) 3:2

(D) 2:1

(A) 2:3
(G 12




52.

53.

54.

99.

. If¢ 3 wits sl &1 4 183 B, @

(A) 59,60,61 (B) 60, 61,62
(C) 60,62,64 (D) 58, 60, 62

U A 1 $S g0 a9 FHE 2 | 9% reh
gt 6 forrt /er Y nifa @ @7 htar & ok
et g8 5 Tt /e i fer A q@ @ R |
Tie o forn T gug 11 =22 ], 91 39S
BT T4 o6t 715 T off
(A) 50 feret

C) 60 fordt

(B) 75 fedt
(D) 70 et

Ife A 33 B i 3l 3y 189 &, B3R C
F 178 AR C AR AFI 209, a1 A

A FE?
A) 2099 (B) 18 a4
(C) 199 (D) 2194

gfq 2 991 # %. 800 W SHATAT SIS
%. 400 T AT o415 § §. 40 H 2,
ot TR ST i gfy o @ g

(A) 5% (B) 6%
(C) 5.5% (D) 4%

afe U w5 % I 1 A S uREe
ShART: —3 3R 2 &, A e sgud @
(A) x2—-3x+2

(B) x2—-3x-2

(C) 2 +3x+2

(D) ¥ @ g T

56.

7.

58.

59.

60.
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a1 9 % SFwal 1 90 468 Hi2 ® | afe
3ok URHTY} T 37X 24 = ], °F F1 i

yemd ® (. 7)
(A) 23,12 (B) 18, 12
(C) 16, 18 (D) 14,16

J2, %,0.01,~8,ﬁ@a‘s'lza%a‘rtr&ﬁu
T 8 ®

3
(A) 2 B)
(C) 0.01 (D) -8

T& U9 %l §. 250 WA WATH . 50 2,
A U T Y el B

(A) %. 300
(B) %.225

(C) %. 200
(D) 394 § 13 el

U % 35 X o § yrg qu el sia o
ST 4 : 1% | AR 3R 7 wlex s Rz
8 fyeran simar 2, ar afons fisor # g

aﬂtwwms‘rmﬂ
(A) 2:3 (B) 3:2
o (D) 2:1
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iv) Hindi Language and Comprehension

& v iR Ay
61. Tk il el & st g e, Wl | 67. BRI h ARl wol T | ¥6 AR # G % gy
S & FEdE | oo 2 |
(A) i (A) siffrea geaE=F
(B) 5% (99) (B) Tifva s=Em=s
(C) a=H (C) THETHEIgF
(D) fsman (D) Ui
62. ‘3@ fa@mT 39 Hera 1 31 B 68. diaie Awl A R |
(A) T T (A) %
(B) Y SAHT (B) HHETH
(C) ST TR AT (C) dcgeN
(D) e 33T (D) wgsfife
63. = B v A TR A e A R 7 | 69 FUT Weg i T G & 7
(A) 3= (B) T (A) FUT HH ATTH
(C) fasmati (D) Ff (B) @R
(C) T FHLATE
64. Hﬂ+3ﬁ=a‘3ﬁﬁlﬂﬁ g g | (D) IR
(A I (B) T ‘
(C) A9 (D) < 70. gdr vee St WEaT= 631 &
(A) Hfiea (B) @fean
65. fmferRas =it o ot ¥ vrsg Fmivr Hifsre | (C) Hferm (D) 3 | I3 A&
%+ﬁ+3¥i+q+3-‘|:
(A) Fd (B) T 7. :l?&'+3i§1:
(C) wira (D) helia (A) et (B) g
(C) gt (D) Telter
66. AT S= &l @M Raamd! & | 98 a9
— 72, ToEH ¥1e8 I 9ga=H €9 8
(A) FHarea (A) o
(B) Sqgar=a (B) fammmd
(C) WraT= (©) fagsm
(D) hi§ e (D) forge

-16-
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73. T o, 3uh S | smammigdme | 77, T 39 o2 T HATRT &9 fARau |

(A) forgeht (A)
(B) wmdt (B) &t
(C) ¥& ©) el
(D) =I5 Tl 0y ek
74. H3 UA % o w92 @R | 3@ 9 |
T 3% Fore e e & 7 78 Fg: + e =
(A) E9eH (A) =IgHTR
(B) 3MUTRH (B) =qwre
(C) = (C) =iguta
(D) = (D) =q:9R
75. g forfiau : 79. ‘Tufge ve %1 aoife=de fifu |
g o (A) F+3+8+1+3+7

) @k ° e s ) wfset T 8
I G H A T) T
%) Sfd e ) WIS T

B) A+3+B+q+3+q+H
(C) EI\+3+‘5‘\+3+-‘-[+?-[+3:{

$) T e H) IS & e (D) H+F+T+THA+A+T
Y FET
. ; 80. WIeat fafgu ;
It FAT  ©) giad =l i
S ot s ) AT %) TeEY quTE

AT T I9F T ) T W) FHE G
B % ¥ @T T 3) fece ) e wEE
C @ T 1w 9 9 uuEEE =) EE wWE

DT % 9@ T 3) fred ) gsliie gu

76. ‘AETIgE Y8 ol 7Y B #AMF R

(B) ST & W g4 aF € & & N 5.7
(C) I 3Ima© C T & 9T T
T 9 TE@®

(D) 1< A et () T (D)

A7=
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v) English Language and Comprehension

ST TN 3R A

" Find the word that is most nearly the same in
meaning as the words in capitals.

81. INNATE

(A) Natural

(B) Extraneous
(C) Adventitious

(D) Extrinsic

82. VICIOUS
(A) Light

(C) Furious

(B) Moderate
(D) Soft

Pick out the word that is nearly opposite in
meaning to the words in capitals.

83. BURY
(A) Conceal
(B) Embed
(C) Digin
(D) Exhume

84. SANGUINE
(A) Optimistic
(B) Genuine
(C) Pessimistic

(D) Altruistic

Choose the sentence which is grammatically
wrong.

85. (A) The scenery of Kerala is very
beautiful
(B) The guests left their luggage in the
hotel
(C) The cattles are grazing in the
field
(D) This is a two year old boy

86. (A) Some ill people refuse to take

medicine

(B)

| answered her as casually as
possible

(C)
(D)

| will be ready to leave by 5 o’ clock

Which was a better story of the
two ?

Choose the correct passive form for the
following sentence.

87. “Someone pulled the bell”.
(A)
(B)
(C)

(D)

The bell pulled by someone
The bell was pulled by someone
The bell has pulled by someone

The bell has been pulled by
someone

88. ‘Your books have given me wisdom’.

(A)

Wisdom has been given by your
books

(B) Wisdom have been given by your

books

(C) Wisdom was given by your

books

(D) Wisdom had been given by your

books
Fill in the blanks with appropriate article.

89. Ganga is a holy river.

A)
B)
)
)

=

he
n
Not needed

C
D

>

(
(
(
(



90.

Mount Everest is the highest
peak in the world.

(A) The

(B) A

(C) An

(D) Not needed

Fill in the blanks with suitable preposition.

91.

92.

| have not met him ______ yesterday.
(A) from

(B) since
(C) for
(D) in

Do not expect any help from them
June.

(C) till
(D) none of the above

Choose suitable linker to fill in the blanks.

93.

94.

She behaves she were a
queen.

(A) if

(B) asif
(C) though
(D) but

he couldnot

He worked hard,
get a rank.

(A) stil
(B) yet
(C) so
(D) for

MKG-XVIIVTECHCICOPAAT/03

Use suitable question tag.

95.

96.

She sings songs, ?
(A) isshe (B) isn’'t she
(C) does she (D) doesn’t she

Apama came here last Sunday, _  ?
(A) was she

(B) wasn’t she

(C) didn't she

(D) doesn’t she

Identify the underlined words in the following
sentences.

97.

98.

99.

100.

It was the ghastly apparition of an old
man.

(A) adverb
(B) pronoun
(C) adjective
(D) preposition

The directors ruined themselves.
(A) pronoun

(B) adjective

(C) conjunction

(D) noun

He signed the letter.
(A) noun

(B) pronoun

(C) verb

(D) adverb

This is the desk which he invariably
wrote at.

(A) verb
(B) helping verb
(C) linker
(D) preposition




101.

102.

103.

104.

105.

SECTION-B
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Post Specific Subject-Related Questions

Scanner is a/an

(A) Input device

(B) Output device

(C) Central Processing Unit
(D) None of the above

is a chip which performs arithmetic
and logical instructions in CPU.

(A) Main memory

(B) Microcontroller
(C) Microprocessor
(D) SDRAM

CMOS stands for

(A) Conventional Metal Oxide
Semiconductor

Complimentary Metallurgical
Oxine Semiconductor

Comparative Metal Oxide
Semiconductor

Complimentary Metal Oxide
Semiconductor

One megabyte has _____ bytes.
(A) 1024

(B) 1024 kilo

(C) 1024 giga

(D) 1024 tera

takes 240 V input and
converts it to varying levels of output
to suit the requirements of different
components of the CPU.

(A) CD (B) RS232

(C) SMPS (D) LPT

106.

107.

108.

109.

110.

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called as

(A) HDD (B) ROM
(C) RAM (D) SSD

Operating System is a type of
(A) Application software

(B) Utility

(C) System software

(D) Language processor

Which of the following statement is

correct ?

(A) Modem converts the analog signal
into digital signal and vice-versa

(B) Modem is a software

(C) Modem helps in stabilizing the
voltage

(D) Modem is the operating system

Microsoft Disk Operating System was
first released in

(A) 1999
(C) 1981

(B) 1989
(D) 2000

Which of the following operating system
is distributed under the GNU General
Public License, that permits free
access to source code, but mandates
redistribution of software under the
same license ?

(A) MAC

(B) WINDOWS
(C) MSDOS
(D) LINUX




101.

102.

103.

104.

105.

W -
e Wifee v - g9t =

¥
:

l

(A) T
() T
(C) HISHITIHE
(D) SDRAM

CMOS 1 forga &9 2

(A) Conventional Metal Oxide
Semiconductor
Complimentary Metallurgical
Oxine Semiconductor
Comparative Metal Oxide
Semiconductor
Complimentary Metal Oxide
Semiconductor

U HIEse | _
(A) 1024

(B) 1024 ferat

(C) 1024 i

(D) 10242

240 V' AT o 39 HifRg
%%ﬁmwaﬁdﬂaﬁmaaﬁmﬁﬁ
& RE g sea dar s |
(A) CD (B) RS232
(C) SMPS (D) LPT

106.

107.

108.

109.

110.
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T ohT I8 TehR 511 o & ST 37t &g
Y wia aifeq fhel i gufed
(A) HDD (B) ROM

(C) RAM (D) SSD

TR fawen &1 UF TFR © |
(A) THIFHIH G

(B) Ffeferdt

(C) Toreen gt

(D) ohas T

feafafead @ s-ar s gt ?

(A) TTSH TATATT Hehal ! fesfieat Gahdl
4 37 fesfiest gehal o1 Tt Hohal
7 ufiafdd a2

(B) WISH Ush €igeadl &

(C) HieH dicew =l fOR = | geran
AT B

(D) HieH U ATRfET ey B

T 3 |

(B) 1989

(D) 2000
frafafas & @ FF-w s Ren
GNU 34 Hrasii-e @38 & sIaia
S1eT T} S WA Fe 7 Fyesd e
GTFeaaT & YATIAR0T i Tehal & 7
(A) MAC
(B) WINDOWS
(®)
(D)

(A)
(C)

1999
1981

MSDOS
LINUX
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112.

113.

114.

115.

116.

Which of the following is the most recent
version of Windows Operating System ?

(A) Windows 98
(B) Windows 99
(C) Windows 10
(D) Windows XP

Which one of the following is not a
search engine ?

(A) Google
(C) Yahoo

(B) Chrome
(D) Webopedia

is the process of hardware
waking up and getting ready to load the
operating system.
(A) Restarting
(C) Sleeping

(B) Booting
(D) Hybernating

When the computer is activated, Basic
Input Output System activates a series
of hardware checks called

(A) POST (B) GNU

(C) NTLDR (D) UEFI

is an internal DOS command takes
on or off argument to decide whether
commands file, batch file are displayed
or not.
(A) PATH
(C) REN

(B) TYPE
(D) ECHO

FDISK is an external DOS command
used to

(A) Compare two files

(B) Display memory usage details
(C) Create disk partitions

(D) Format specified partition

117.

118.

119.

120.

121.

122.
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is a Linux shell command to
store keyboard input to a new file.

(A) Cat (B) Cat->
(C) Cat->> (D) Cat->>>

Which loop is used to execute given
statements until a specified condition
is true without stated arguments ?

(A) If (B) For
(C) While (D) Switch

With regard to a word processing
software, the process of combining
static information in a publication
together with variable information in
a data source to create one merged
publication is called

(A) Electronic mail
(B) Data sourcing
(C) Mail merge
(D) Spam mail

tool in MS Office helps in creation
and maintenance of databases.

(A) Word (B) Excel
(C) Powerpoint (D) Access

In MS Word, which of the following shortcut
key is used to create a blank page ?

(A) At+N+N

(B) Alt+N+P

(C) Alt+ N+ NP

(D) Alt+ NP + NP

Spreadsheet files are generally stored
with an extension

(A) .doc
(C) .xcl

(B) .xsl
(D) .xis
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111.

[ Ir-2

113.

114.

115.

116.

Feafafeg 4 @ s-a1 e st
oz =1 gaiftes swma g g ?

(A) faer= 98

(B) fa=ist 99

(€) fag= 10

(D) fa== xp

Feaffea d a P-ar s g SR ?
(A) T (B)
(C) " (D) asidifean

SISaT I ANG H 3K
AR freen #t g w3 & fou FR
A Al gl R |
(A) Te=ifen
(C) e

et et Wisha foa STt & o Sfteh sge
313eYe foen gréamr Sitet i v gaen
ufsra e g, st FeeT |
(A) POST (B) GNU

(C) NTLDR (D) UEFI

HH 3R AR Aie A FHiE FEd, =
EISC I SYTIAT ST HAYET T2 1 ol o
& foeadi 2 |
(A) PATH
(C) REN

(B) TYPE
(D) ECHO

FDISK T& 9Td Si9 HH1E & Sl
g S el 2 |

(A) BFIgal st g

(B) HU yamT = fagor goiiy
(C) fet= favymm =@

(D) fAfdse famem = urefta @

LB 7

118.

119.

120.

j s

122.
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Teh AT I FHIE & S U 718
I3l H ShiAIg 319 i HeTid el ¢ |
(A) Cat (B) Cat->

(C) Cat->> (D) Cat->>>

v b ek ffdee fedrfa sfda smefiiz %
fom oo = 81 99 9% few U T (Reiz)

o fsaTe g -3 o9 ygF Bar @ ?

(A) If (B) For

(C) While (D) Switch

UF 98 WA aigedd & ged §, us
farefi ufserere 591 & fovu uas ufserdam
o TR AT 1 =R I & 91y e
gehaT e g |

(A) SerRI A

(B) SreT gifdm

(C) T TSl

(D) &9 Ad

WUE HFEH T Seed &
fmior 3R arew & wEwar FEr? |
(A) & (B) T

(C) uTagTEe (D) uFEH

W 98 § & fEa 7% a9 R F fon
f=feriea @ & - Tt it wge
gl & 7

(A) Alt+N+N

(B) Alt+N +P

(C) Alt+N +NP

(D) Alt+NP + NP

wesfie wIEd gH=a: o
& |1 IR Bt & |

(A) .doc
(C) .xcl

(B) .xsl
(D) .xlIs
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123. Which one of the following is the default

124.

125.

126.

127.

128.

folder for saving the files ?
(A) c:\

(B) d:\

(C) my documents

(D) new folder

Valid formula in Excel begins with
(A) + (B) -
(C) # (D) =

Which of the following function keys
is used as a toggle key for changing
referencing modes in MS Excel ?

(A) F2 (B) F8
(C) F4 (D) F6

Which of the following is not character
formatting ?

(A) Text Colour
(B) Alignment
(C) Font

(D) Subscript

The presentation is seen on the
computer or a projection screen in the
form of

(A) Slides
(B) Pages
(C) Papers
(D) Handouts

is the smallest and the fastest
memory in computer.

(A) RAM (B) ROM
(C) Cache (D) Hard drive

129.

130.

131.

132.

133.

134.

135.
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in CPU, points to the next
instruction to be executed.

(A) Instruction register
(B) Program counter

(C) Memory buffer register
(D) Accumulator

is the space left on one side for
stitching and binding.
(A) Justify (B) Bullet
(C) Gutter (D) Portrait

By default, a workbook or spreadsheet
contains sheets.

(A) 2 (B) 3
(C) 4 D) 5

is a type of memory circuitry
that holds the computer’s system
software such as Boot loader.

(A) RAM (B) ROM
(C) RIM (D) Cache

Which of the following is a most common
formats used to store vector image ?

(A) .JPG (B) .PNG
(C) .TIF (D) .SVG

color system is adopted for
printing purpose.
(A) RGB
(C) CMYK

(B) HSI
(D) HSL

Basic building block of a digital image is
(A) Grid

(B) Pixel

(C) Vector

(D) None of the above




123. fi=fafes § @ $H-a1 ol & guen &

124.

125.

126.

127.

128.

fore i Tieet 2 7
(A) c:\

(B) d:\

(C) my documents

(D) new folder

U | U g
BT R |
(A) +

%ftuaﬁau:er?Fw o —l .?a*ifrii“i‘

q -t g Holl
(A) F2 (B
(C) F4

FIE 1T TSI 9T T ST TeIeRToT
% &9 4 2@ SR |

__ Fod gad 819 3R diaay
(A) RAM (B)
(C) &%

ROM
(D) =TS grEd

130

i,

131.

134,
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136. JPEG stands for

137.

138.

139.

140.

141.

(A)
(B)
(C)
(D)

Joint Professional Experts Group
Join Photographic Experts Group
Joint Photographic Experts Group

Joint Photographic Experienced
Group

The commands used to create or alter
databases and tables is called

(A) DML (B) DQL
(C) DLL (D) DDL

URL stands for

(A) Uniform Research Limited
(B) Uniform Resource Locator
(C) UniLine Resource Labs
(D) Uniform Research Locator

Field involved in adding mobility to the
area of commerce

(A) Mobile Business

(B) M-Commerce

(C) Hand to Hand Commerce
(D) Mobile Communication

Learning online through Internet is also
known as

(A) E-teaching

(B) Videoconferencing
(C) E-learning
(D) None of these

Which of the following language(s) has
portability as its main feature ?

(A) Assembly language
(B) High level language
(C) Machine language
(D) 4GL

142,

143.

144,

145.

146.

147.
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Assembler converts

(A) Assembly language to Machine
language

(B) Machine language to Assembly
language

(C) Assembly language to High level
language

(D) High language to Assembly
language

Set of rules that controls communication
between two devices is called

(A) Network
(B) Application
(C) Protocol

(D) Media

IP address is bits in length.
(A) 8 (B) 16

(C) 32 (D) 64

Full form of WWW is

(A) Word Wide Web
(B) World Wild Web

(C) World Wide Web
(D) None of these

Computer networks help in the sharing
of large files through

(A) SMTP (B) FTP
(C) TCP (D) HTTP

or HTTP is the most popular
protocol to connect web applications.

(A) Hyper Text Transfer Protocol
(B) Higher Text Transfer Protocol
(C) Higher Transfer of Text Protocol

(D) Highest Text Transfer Protocol
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136.
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138.
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JPEG &1 fa=m 2

(A) SETEE NTHYHE THEUSH U

(B) SSTE WIS wRTE 7
(C) SoTEE BIonNTee TFaTdd 7y
(D) SHTEE BT TGRS Iy

SIeTeE 3R TROf Y = a1 giafdd w6
o T FHIS
(A) DML
(C) DLL

URL 1 foram &

(A) I fas fafiee
(B) I frand ehet
(C) Fiems fad Sy

(D) i fad eehet
T & &3 I Thd 24 § T 8
(A) METEe fasg

(B) TH-whHH

(C) Tez s wmd

(D) WSS HaR

3T o HIEHH § 3eE Ue
FATd! & |

(A) 3-Zfem

(B) feari-wifam

(C) 3-=fn

(D) ¥ & I3 e

(B) DQL
(D) DDL

eforfaa & & form smon /smnedt < qeg
forsryar 3uht getaar @ ?

(A) THscHT HTET

(B) I wiig o7

(C) wftt s
(D) 4GL
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144,

145.

146.

147.

MKG-XVII/TECHCICOPA/IT/03

THeeT FEA © |
(A) TEset STt Y AT e
(B) weft srsT ht wlset v |
(C) UEse SITST =ht 3= &I WIST H
(D) 3= {INT i UHseA! 797 o

T =1 o= <t St I e Evn
frafae e 2
(A) e
(B) uwdtshy=
(C) Wieiehiat
(D) Hifsam
Tt T s | focaamar e |
(A) 8 (B) 16
(C) 32 (D) 64
WWW 1 farga &9 &
(A) =€ aTEE I
(B) deS AT3es A
(C) oS aTES A
(D) ¥ & FIs T
HOE 2T IS BIE! Hl
& WIEAH © WIE A H SR T § |
(A) SMTP (B) FTP
(C) TCP (D) HTTP
FHYAT HTTP dal ST %
fore waifes St T« 2 |

(A) TER THRL TFEH TIeIhia

(B) TRR IHZ IH WIeIhic

(C) TR AW HATH L Wielshict
(D) TR THRL TETH Tihrd
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Remote 10gin over a 1 Ui /IP is

dachnievea by

(B) UDP
ftp (D) slip

IS a connectionless protocol
nich does not guarantee the data

aelivery.

(A) TCP (B) ARP
(D) UDP

g s - [ Sl L A e R | i
ldenti L P address from the
followin
{ r-. -

LM i o J .

(D) 2 0-20-14
1) — | . - T - - e et

VOIF technology enables to connect
(A) Only PSTN telephones

=) [ =1l FAalarmby Am s e

(B) Only mobile telephones

) \ | } L :;’.‘._,,'h_].l':‘

(D) All I bled telephone systems

CONne O ne Internet
sthe Internet a

computer on wnicn tne iies resiae

f AN 5 L

(A) Guest name

-~ T SRy ] "
node through whic

=

communicate with each other.

fA N e, A e e e
(A) Bus topolog

(B) Ring topology
(C) Mesh topology
(D) Star topology

o
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The network spread over a large area,
interconnecting several LANs and
MANSs is called

(A) PAN

(B) CAN

(C) WAN

(D) None of these

: ____ transmits data between
computers connected in a LAN.
(B) Hub
(D)

(A) Gateway

(C) Bridge None of these

~used for transfer of email
between local host and remote host.
(A) FDP (B) FTP
HTTP (D) SMTP

(C)

Malware which locks user data and
demands payment of money to a specific
account for unlocking the data is called
(A)
(B)
(C)
(D)

Adware

0]

it
(® ) |

Rasomeware

Troj

(]

n

Web pages which provide fixed contentin
the form of text, images and video uses
(A) XML (B) HTML

(C) Javascript (D) PHP

is a special purpose programming
language used to create a table, manage
data and manipulate data.
(B) C++
(D) SQL

(A) Python

(C) Java




3

bl

148. & TCP/IP T g AiEA QY

149.

150.

151.

152.

153.

T it At R |
(A) telnet
(C) fip

(B) UDP
(D) slip

& HAmmed SR g S
g gaert it et e 2 |

(A) TCP (B) ARP

(C) PPP (D) UDP

Fr=feafaa § @ 1P gar we=nfaw |
(A) 300-215-317-3

(B) 302-215@ 417-5

(C) 202.50.20.148

(D) 202-50-20-148

VolIP d&1% %! Sirea | gam

T R |

(A) Fadt PSTN 2w

(B) ¥aw Hiamder e

(C) *9 VolP Rre

(D) EEeA R of IP wam 2wl
fiwey

T HPIE T A
®, STel wrget Bt € |
(AY 7=y (B) ¥, . TH.

(C) ‘=W (D) AFETER

U R Uiy 3uesy Sl
& Foraeh wrem & ot o1 wfrt v -gat
o IO A | |
(A) =9 gfefa
(B) W« wftufy
(C) oz ufedfa
(D) T wfeufy
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%% LAN 3R MAN = 31199 o Sire are
oS 83 W $eA1 U Feash

(A) PAN

(B) CAN

(C) WAN

(D) 30 ¥ =S &

T LAN H S8 el & off
ATehe FEd T & |
(A) Tred (B) &
() fs=1 (D) 378 & 13 Te]

T B2 3R gy B ol
3T I TG 0 H e el @ |
(A) FDP (B) FTP
(C) HTTP (D) SMTP

RS C R R | 81 7o e P o2 e [ [
<A1 8 3R 38 WieA & o s faftre @m
o UG} 3 ST S A T

FEATAT S |

(A) TEIW

(B) W

(C) WHAW

-

(D) IS

JA Y W e, T s difeai & wu o
Fruifia onaft Stesu R 8, 3

T T L ¢ |

(A) XML (B) HTML

(C) Senferee (D) PHP
LERCHERDISERI DU R

12T § Waee g I el € |

(A) B (B) C++

(C) SmaT (D) SaL
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converts digital information
from computer to analogue signal over
telephone line and vice versa.
(A) Switch (B) Bridge
(C) Modem (D) Repeater

In a computer spreadsheet, formula that
equates to 6 is

(A) 9-2x3+4/2

(B) 1+2x3-8/2
(C) 8-2x3+8/2
(D) 2x3-4/2

ali- 3 enables multiple central
processors to serve multiple real time
application and multiple users.

(A) Batch processing system

(B) Time sharing system
(C) Distributed system
(D) Real time system

Complete the statement with appropriate
answer.

A _can copy a printed page of
text or a graphic into the computer’'s
memory, freeing us from creating the
data from scratch.
(A) Printer
(C) Painter

(B) Plotter
(D) Scanner

Intersection areas of rows and columns
in spreadsheet are

(A) Box
(C) Line

(B) Cells
(D) None

is used to navigate to a
different folder or library or to go back
to a previous one.

(A) Address bar (B) Toolbar

(C) Command bar (D) Search box

166.

167.

168.

169.

170.

174
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Hardware is

(A) Tangible equipment
(B) In-tangible equipment
(C) Set of instructions
(D) Operating system

The left as well as the right side of the
paragraph will be aligned except for the
last line in

(A) Left alignment
(B) Right alignment
(C) Centre alignment
(D) Justify

While working with AutoShapes, you
can change the style of the text using

(A) Font Color

(B) Line Style

(C) Select Font from Format menu
(D) None of the above

Which of the following is not a
standardisation organisations in the field
of Information Technology ?

(A) IEEE (B) 1SO
(C) IS (D) VESA

A is a compression technology
for transmission of video.

(A) JPG (B) MP4
(C) MPEG (D) 3GP

The domain .in stands for
(A)
(B)
(C)
(D)

International
Internal
India
Indonesia
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_ #HA ¥ feSfiea gmw oA
I T T Hahal 3§ SR THed i g
¥ fesfret gumn & wftafda wear 2 |

(A) fE= (B) forst

(C) wieH (D) frdiex

T HE Bevfie #, 6 % s g
(A) 9-2x3+4/2

(B) 1+2x3-8/2

(C) 8-2x3+8/2

(D) 2x3-4/2

_ gd-4 g MR S aga-a
Teehlel ST 7R S5 -d S Irail i
T YSH A H G S R |

(A) == T fawen

(B) zrgH Srafi fieew

(C) feefieqes fireen
(D) T ergw faey

Y ! FEl I F ot Fifvr |

T o9 o U fed U3 1 U Ui
<t e i BEr 3 wfd 51 e 8, e

ST TN @ i i e 2 |
(A) T (B) Wi
(C) Y (D) ¥R
Treefie ¥ O iR o & yh=ad a9 2
(A) Siaq (B) TeH
(C) A (D) I3 e

TS 979 Blest I1 sl a6 s
% forg = 1id 9 & fore sy S & |
(A) TgH IR (B) TR
(C) *HIE 9R (D) T =™
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HEERIE
(A) TI¥ 3
(B) TEqvH IYHIII
(C) Traumt =t wq=rg
(D) AT fren
T 3ifaw ufe i S s
I 915 R gt 3w wifiga Bl |
(A) Tar g@n
(B) 3faTTi@y
(C) Hsa T@m
(D) SIS

HENAAFEAFATHT_ FHIHEN
Fh T TR I forer seet g & |
(A) Wi Hel

(B) Y@t faem

(C) HiHe U= ¥ Hi-e gAY

(D) 3% 8 & HIS T

e MeEtfieht & &3 °§ w9-u1
HThRISh T3 el & 7

(A) IEEE (B) 1SO

() 18I (D) VESA

_ ifer & dumor % faw gt
THAIE B |
(A) JPG

(C) MPEG

(B) MP4
(D) 3GP

B .in & for smmar @ |
(A) SIS

(B) 3T

(C) sfean

(D) SeSRf¥mn
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173.

174.

175.

176.

177.

Which of the following set of colors are
considered as primary colors ?

(A) CMY (B) HSI
(C) RGB (D) CMK

The transparency value of a pixel is
represented in a range of

(A) 0-255 (B) 0-100
(C) o-10 (D) 0-500

Specialized software for storage,
analysis and retrieval of data is called

(A) OODB (B) SQL
(C) NOSQL (D) DBMS

separates a small network
from the internet. It scrutinizes all
incoming and outgoing data and
prevents communication of harmful
data.
(A)
(B)
(&)
(D)

Proxy server

Peer to peer networking
Firewall

Network topology

Which of the following cables is not affected
by electromagnetic disturbances ?

(A) Unshielded Twisted Pair Cable
(B) Shielded Twisted Pair Cable
(C) Coaxial Cable
(D) Fiber Optic Cable

Which of the following will be a possible
connection range of bluetooth device ?

(A) 100 m-1000 m
(B) 40 m-400 m
(C) 400 m-1000 m
(D) 1000 m-4000 m

178.

179.

180.

181.

182.
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Which of the following protocols
divides large data into smaller packets,
assigns sequence number to the packet,
transmits the data through IP layer ?

(A) UDP (B) TCP
(C) FTP (D) HTTP

In an OSI 7 layer model, which among
the following is a bottom most layer ?

(A) Application layer
(B) Network layer
(C) Physical layer
(D) Data layer

Address binding is

(A) address of the networking hardware
(B) address assigned to a host when
it is connected to a network
mapping of a logical address to a

physical address

(C)

(D) none of the above

First generation computer used
for programming.

(A) low level language

(B) machine level language
(C) middle level language

(D) high level language

Collection of computers and other
devices connected through the internet
for sharing of processing power and
data storage capacity is called

(A) Supercomputer
(B) Mainframe computer
(C) Mini computer
(D) Cloud computer




172. fy=fafea & @ o & foFm ag=m =t
STTHe T el Sirar 8 7

(A) CMY (B) HSI
(C) RGB (D) CMK
173. U= fuadiel o1 areiRfar o= = T
it o yefta foman sirar 2 |
(A) 0-255 (B) 0-100
(C) 0-10 (D) 0-500

174. 98, fawerson 7R ifehg &t gavifa =g
ToeTieha TTReaat FEAT 2 |
(A) OODB (B) SQL

(C) NOSQL (D) DBMS

175. U B 42T Fl T2 ° 37T
FAT B | T8 YA ATTH-SEGF e
st FeteqT T 2 3R giEe sifFsl &
G I UshaT © |
(A BIEIREET

(B) WRR ¥ R Jeafd
(C) wREE
(D) eI afeufd
Ffafea 3 @ #F-8 T faga gudi
%aﬁﬁmmrr%ﬁ%*’f%’lﬁf

A) TR Feferd I dR

(B) ITEd Heferd I R

(C) w\y{ig ar
(D) IEER 3T dr

Ffofia § @ F9-dt sogy 3gww
vd ST Himn gnft ?

(A) 100 m-1000 m

(B) 40 m-400 m

(C) 400 m-1000 m
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(D) 1000 m-4000 m
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(A) UDP
(C) FTP

(B) TCP
(D) HTTP

T OS| 7 W Hige H, F=fafaa # 4
F-4t g et wa 2 7

A) THTHYH Ta

(B) =%k Wd

C) sftfees 9

(D) ATHST R

TSy WIS ®

(A) SeafehT ISR 1

(B) U BRZ I Wed Ul & I8 T
ST ¥ Jgdr 2

U difeheh Jd &1 U Wifas 9d *
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39 H | s Al

voH Wil o FgI Ik forw
T ST e 9 |

(A) T =T e
B) Tt TaX |
(C) HET T 9
(D) == T W

(C)

(D)

JrafEm wifed i @1 SSru gHar &
HIH A =g 5T & 91599 8 §e FHE
1 oo AR 31T A1 1 Ghed
FEAT & |
(A) FRFIL
(C) Foreft et

B) HAHH R
(D) FAIE FHX
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creates desired shapes and
characters using heating filament on a
special paper coated with BisPhenol A.

(A) Inkjet printer
(B) Laser printer
(C) Thermal printer
(D) Plotter

in microprocessor hold the
data required for processing.

(A) Register

(B) Control unit

(C) ALU

(D) Information pointer

Speed of the processor, i.e. number of
clock cycles per second is measured in

(A) kOhm
(B) kHz
(C) kA
(D) kV

was the first operating
systems to support multi-tasking and
multiple user logins.

(A) Windows

(B) Mac

(C) Unix

(D) None of these

Apple computers use
system.

(A) Windows

(B) Mac

(C) Unix

(D) None of these

operating

188.

189.

190.

191.

192.
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was the network that
became the basis for the internet.

(A) Intranet
(B) WWW
(C) Arpanet
(D) None of these

For HTTP, Web server usually runs on
port number

(A) 40
(B) 43
(C) 80
(D) 444

First super-computer of India is
(A) CRAY3

(B) HITAC S-300

(C) PARAM

(D) ARYABHATA

Modern computer keypad generally
contains keys.

(A) 104
(B) 53
(C) 26
(D) All of the above

Decimal equivalent of binary number
10100101 is

(A)
(B)
(©)
(D)

128
165
156
135
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(A) e fix

(B) asw fiex

(C) uvid firex

(D) =X

ATSHITRER
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(A)

(B) g Ifie

(C) g

(D) FHHIM TSR
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e gudiem R

(A) kOhm

(B) kHz

(C) kA

(D) kV

____ Sl IR agyEEn |
TR ¥ TuH AR freew or |

(A) fagis

(B) #*

(C) I
(D) T & IS 7

TS FeH T frew @
I A &

(A) Windows

(B) Mac

(C) Unix

(D) ¥8 & wis T

wrafem % fag
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1 42T 9T ) T2 T YR
ol
(A) $gHE
(B) WWW
(C) e
(D) ¥ & =g e

HTTP 3¢ 99 &t gmT=aa: e a&d
WA R |

(A) 40
(B) 43
(C) 80
(D) 444

WA T ToH YU H 8
(A) CRAY3

(B) HITAC S-300
(C) vH

(D) 3mhTE
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Hioai Bieft 2 |

(A) 104

(B) 53

(C) 26

(D) 3o o

fesmardia = 10100101 F1 vmwE
IFE &

(A) 128
(B) 165
(C) 156
(D) 135
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193. GPRS is used in mobile phones for

194.

196.

(A) Sending SMS

(B) Data communication
(C) Voice communication
(D) None of the above

are meant to enter the data
and to receive output from the main
computer, as they cannot process data
on their own.
(A) Dumb terminals
(B) General purpose terminals
(C) Job oriented terminals
(D) All of the above

An ASCII is a character-encoding
scheme that is employed by personal
computers in order to represent various
characters, numbers and control keys
that the computer user selects on the
keyboard. ASCII stands for

(A) American Standard Code for
Information Interchange

(B) American Standard Code for
Intelligent Information

(C) American Standard Code for
Information Integrity

(D) American Standard Code for

Isolated Information

An unsolicited e-mail message sent to
many recipients at once is a

(A) Worm
(B) Virus
(C) Threat
(D) Spam

197.

198.

199.

200.
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Internal communication within institutions
is done through

(A) WAN
(B) LAN
(C) MMS
(D) EBB

Which of the following is not a High
Level Programming Language ?

(A) COBOL

(B) Pascal

(C) Assembly language

(D) FORTRAN

viruses infect and replicate
using the MS Office program suite,
mainly MS Word and MS Excel. The
virus inserts unwanted words or phrases

in the document.
(A) File

(B) Macro

(C) Boot sector

(D) None of the above

Choose the option, which is not included
in networking.

(A) Access to remote database
(B)
(C)
(D)

Resource sharing
Power transferring

Communication
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Aada B 8§ SAdtemueg ¥
e s e @ |

(A) THTHTH H5H

B) 3ifehe EuNUT

C) waf¥ gy

(D) 3% ¥ ¥ I3 T

Aiwgl Hi yfafee X &g
FII Y TITYE JTed FH o fore =g 1Y
&, Hifeh & T4 SAThe! ol TR Taf F
Tehd |

(A) TFBR

(B) THI oW SR

(C) USPTRIFGE BR
(D) 3= gt

Tsh ASCI Tsh T THHITET AT & )Y

SRITeRAT G ShIaTS O S ATt oo

ol =l g1 v &S St & | ASCII

&1 faar 2

A) TR € HIS BR FHHTH 20

B) 3t WeE g B seeleie
THIHIH

(C) MR TS TR THIH LD

D) iR WS HIg R AEIILS
ERaENE

Th ST (a7l §-Hel Haxr it Uk o 3 wgal

TR YT 1A st ST S

(A) =H

(B) I=®

(C) %=

(D) ¥
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% Trey o foran san |
(A) WAN
(B) LAN
(C) MMS
(D) EBB

Frafafaa # @ F-di 39 wia g
T A& 2 7

(A) HisTe

(B) UTEEhHe

(C) wEisct T

(D) WA

AT HEHAT IR wfferfiantor
o foTu wrew Aiftha S ge gead: wiu
I 3R TITE TS 6 T4 S B | I8
ATITH SEATAS | TS Y162 IT I168 THE
TR |
(A) hIEe
(B) TRl
(C) ¢8I
(D) 3FH & A 7

g foshe g st Seafd 3§ sfter 7€ & |

(A) TEY SR T T5d
(B) Y WIS HTAT

(C) ifer h1 TG
(D) HIYUT
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SPACE FOR ROUGH WORK
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IMPORTANT INSTRUCTIONS TO CANDIDATES

suflganr & oo agwget sHEw
13. 39 i § 40 U 2|

14. Tdw : yd% U 7YET IS AP FYT & G

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O&00O

Wrong Method

0@ 00

Correct Method

@00

Wrong Method

O0®0O0O

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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